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What do | need to be. able to do? ” feywords

By the. end of this unt you should be able I
to:

Enlarge: to make a shape bigger (or smaler) by a given muttiplier (scake. factor)
[ Scake Factor: the mutipler of enlargement
* Work flenll with hypotenuse, opposte. | Constant: a value that remdins the same
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| and adacent sdes I Cosine ratio: the ratio of the kngth of the adiacent side to that of the hypotenuse The sine of the |
| * Use the tan, sine and cosine ratio to ] I
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find missing side. lengths I C?””P'em_?”t
. Use the tan, sine and cosine o o I Sine ratio: the ratio of the length of the opposite side to that of the hypotenuse

find missiig anges | Tangent ratio: the ratio of the length of the oppostte side to that of the adacent side
e Cabute sides usng Puthagors’ 1] Inverse: function that has the opposite effect

Theorem ” Hypotenuse: longest side of a right-angled triangke. It is the side oppostte the right-angle
_______________________________________________ 1
: Ratio in right-angled triangles e (e ange s tre same : : Hupotenuse, adiacent and oppostte, ONLY rafi-anged trondes are el |

the ratio of sides a and b wil this way |
| ako remain the same. | 1 ’ ODJOCENT |
I Zbcm 100 e . : : OPPOSITE Next to the angle in question I
I 1olc mL 30 ' L 30 ooreml 5 T Obiays oppostte an acute dngle Often labeled st |
| L b 1] Ul o el second '
: ab [a-=L g‘ 00 007 1 Posttion depend upon the angle Olways the longest side :
I 2 A 50+ 100 007 04 [ e for the question HYPOTENUSE Olwaus opposite the right ande i
L [ Useful to label this first |
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| Tangent ratio: side lengiths | | Sin and Cos ratio: side lengths |
|
| Tand - omosle S L 0PPOSTE [ 69 - opmoste s - cdcent s | |
| an QQMtS I o Sné - opposite side ODJOCENT Cos® - odiocent side | |
adjacent side I hupotenuse side X cm hypotenuse side | |
I TS -
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| Substitute the vales into the tangent formula I Substitute the valves into the |
I I NOTE |
| Y T34 - 10 I 12 cm The Sin(x) ratio is 12 cm ratio formuia |
| &2 —_—
| § § X : I HYPOTENUSE tge Fgg’e )“g the HYPOTENUSE Equations might need |
1870 Equations might need | : ost90-x] o rearranging 1o solve :
I 10cm AN L e =
I OPPOSITE - U Pithioorac theorem €% 0 0 |
, xxTan34 - 0. || Puthagoras theorem @ [ pyoteneed - g + b2 |
| 0 45 | Places to ook out for Puthagoras |
X =_1 . =i4&m | | - Perpendcular heights in isosceles
I Ton34 I %, This s commutative — the trianges |
|_ ______________ | I a %, square of the hypotenuse s - Diagonaks on right angled shapes |
[T—————————————— 1 /%, equal to the sum of the - Distance between coordinates |
| Slﬂ, COS, Tan: anles : : b squares of the two shorter - Ony length made from a right angles |
I sides |
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: ODJOCENT Label tiandk | : an |€S Because trig ratios remain the same for simiar : I heu GHQBS 00 aﬂd q0° |
3cm gbel your range | shapes you can generalise from the folowing I |
| and ¢hoose. uour | This side coud be cakulated |
W= - trigonometric Eat\o : I &“‘”@ Pthagoras e | I[ Tan0-0 ] [ Tr\“ 6 ] :
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: & Substitute vaes ito | : Tan30- — ||Cos30- i3 Sin30- 2 : | Ths e comot b et s |
< the. ratio formula 1 'V3em 2cm V3 2 V3 | mpossibe as you camot have tvo |
: 4cm _ o : 60 Tan60 = V3 || Cos60 - % Sin60 = > : | 90° angles in a triangle I
| 0 =Tan! opposite side |I rp— I :ancm |
[ Tand= 3 .\ adacent S‘de) I| [ :
( 3\ I
: oot |34 9 =Sin-'h8mt tesie |: S i H[ sn0-0 | [ sn%0-1
=Tan! 3 POLEASE SIC] | | 1 cmy |Tan45=1|[cog45 1][Sin45= 1]
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